
Valid & Invalid Query Examples 
 
 
 

 Opening 
AQ 

Shipper A Shipper B Shipper C Valid 

  Consumption 
(M2) 

Implied 
AQ 

Consumption 
(M4) 

Implied 
AQ 

Consumption 
(M6) 

Implied 
AQ 

Consumption 
(M8) 

Implied 
AQ 

Consumption 
(M10) 

Implied 
AQ 

Consumption 
(M12) 

Implied 
AQ 

 

1 12,000 2,000 12,000 4,000 12,000 6,000 12,000 8,000 12,000 10,000 12,000 120,000 
 

120,000 Yes 

2 12,000 2,000 12,000 4,000 12,000 6,000 12,000 44,000 120,000 82,000 120,000 120,000 120,000 Yes 
3 12,000 2,000 12,000 4,000 12,000 33,000 120,000 62,000 120,000 91,000 120,000 120,000 120,000 No 
4 12,000 2,000 12,000 25,600 120,000 49,200 120,000 72,800 120,000 96,400 120,000 120,000 120,000 No 
5 73,100 12,183 73,100 24,367 73,100 36,550 73,100 48,733 73,100 60,917 73,300 73,300 73,300 Yes 
6 24,000 2,000 24,000 34,000 120,000 38,000 52,000 58,000 108,000 62,000 68,000 88,000 88,000 No 
7 12,000 2,000 12,000 - - - - - - - - 120,000 120,000 No 

 
 

Assumptions: 
 
1. Each Shipper registered to Supply Point for 4 months 
2. No historical information available to Shippers 
3. All other details correct and accurate 
4. Meter readings are available every 2 months 

 
Potential Allocation Arrangements: 
 
1. 100% Shipper C – change in consumption clearly occurred in Shipper C’s ownership and should have appealed AQ to avoid Mod 640 

charges 
2. 50% Shipper B 50% Shipper C – change in consumption clearly occurred in Shipper B’s ownership and both Shipper B and Shipper C 

should have appealed the AQ 



3. Invalid query – change in consumption could have occurred in Shipper A’s or Shipper B’s ownership. However if significant evidence to 
demonstrate that AQ was SSP for significant period in Shipper’s A ownership potential to re-apportion with more waiting to Shipper B and 
C 

4. Invalid query – change in consumption occurred in Shipper A’s ownership. Current charges stand 
5. 50% Shipper B 50% Shipper C – Shipper A query valid as evidence that change in AQ occurred in Shipper B’s ownership. Shipper B to 

Shipper C query invalid as unclear when change in AQ occurred. 
6. Invalid – volatile consumption but all Shippers should have appealed AQ with information available. 
7. Invalid query – unclear when change in AQ occurred due to lack of meter readings. 


